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SH: F0IMEX D
HE: HASE MBOY X
el RPOIZMBBELDT NBAL (S5l &2
5 o SIEN
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o B2
=0 M 2 29,568,412 27,935,720 1,632,602
=2 24,221,096
Al 4,412,884
2 934,432
HASE MBOE X 25,584,691 24,827 584 757,107
= 23,230,122
Al 1,927,040
2 427,529
2WIZHBLSHLTT NLAL 21,986,252 22,169,107 ~182,855
= 20, 125,861
Al 1,571, 166
2 289,225
820 17,113,446 16, 167,421 946,025
= 15,756,626
Al 1,225,515
2 131,305
301 YA 17,113,446 16, 167,421 946,005
= 15,756,626
Al 1,225,515
2 131,305
01 ABIBFELHI 17,113,446 16, 167,421 946,025
OMHS 0 (LB +ST) 17,113,446
= 15,756,626
Al 1,225,515
2 131,305
=HZ0f 3,603, 166 4,472,925 £869,759
= 3,242,849
Al 252,222
2 108,095
301 YBBAD 3,565, 166 4,424,925 £869,759
= 3,199,649
Al 248,862
2 106,655
01 AtBIREE 263 3,565, 166 4,424,925 £869,759
OF NS0 (LSBT 3,565, 166
= 3,199,649
Al 248,862
2 106,655
401 AlZHIL 2O 48,000 48,000 0
= 43,200
Al 3,360
2 1,440
01 Al&H] 48,000 48,000 0
EHHSZOH(LULST) 48,000
= 43,200
Al 3,360
= 1,440
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mE=T=10: 1,030, 165 852,281 177,884
=] 927,148
Al 72,112
2 30,905

301 LetEas 1,030, 165 852,281 177,884
927,148
72,112
30,905

4 =4

&0z 1,030, 165 852,281 177,884
o (et=== A 1,030, 165
927,148

72,112
30,905

4 =4

[ FaR=PNF=1C] 84,426 74,651 9,775
75,983
5,910
2,533

4=

301 Let2a= 84,426 74,651 9,775
= 75,983
Al 5,910
T 2,533

= 84,426 74,651 9,775
Odfi &t - ZH=0 84,426
= 75,983
Al 5,910
T 2,533

ARSI A 154,069 9,357 144,712
= 123,255
Al 15,407
T 15,407

301 et Az 154,069 9,357 144,712
123,255
15,407
15,407

4= 4

&= 154,069 9,357 144,712
K& 154,069
123,255

15,407
15,407

4 =4

0z
i
T
0

e 29 980 980 0

201 =&l 980 980 0

]l 980 980 0

Ode2HAd H4d=2 70,0008 +7E*23] 980

NASE NEXEAE 3,562,868 2,623,077 939,791

3,104,261
339,374
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= 2,566,241
Al 199,597
- 85,541
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751,379 1,059, 159 692,220
576,241
Al 122,597
2 52,541

H

S =] 1,751,379 1,059, 159 692,220
, 751,379

,576,241
Al 122,597
T 52,541
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307 2120l & 1,100,000 667,371 432,629
990,000
77,000
33,000

4= 4
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1,100,000 667,371 432,629

,100,000
990,000
77,000
33,000
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4 =4

EASIH 137,631 198,890 261,259
123,868
9,634
4,129

4 =4

301 Let2H= 137,631 198,890 N61,259
123,868
9,634
4,129

4=

01 A2 X563 137,631 198,890 A61,259
OXEgL=EZH 137,631
123,868

9,634
4,129

4 =}

KNS Ade X& 230,978 225,404 5,574

161,684
69,294

=

307 2120l A 230,978 225,404 5,574

= 161,684
Al 69,294

02 It AEx 230,978 225,404 5,574
OXgxagde s 28 K& 230,978

= 161,684
Al 69,294

INESDAR-Full = EASC RS- PNES) 16,320 16,320 0
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A 6,320
307 BI2HOI 16,320 16,320 0
Al 16,320
02 SItYABE 16,320 16,320 0
ONAREUE A=+ 16,320
Al 16,320
At R E 20| 196, 181 428,263 ~232,082
2 137,327
Al 29,427
2 29,427
307 2I2H0IE 196, 181 428,263 £232,082
2 137,307
Al 29,427
2 29,427
05 BIZtSIES 196, 181 428,263 £232,082
ORI 220 196, 181
2 137,307
Al 29,427
2 29,427
MBS T2 O 4,539 5,670 A1,131
2 4,085
Al 318
2 136
301 LB 4,539 5,670 A1,131
2 4,085
Al 318
2 136
01 ABIBZEAH 3 4,539 5,670 A1,131
OAMSIESEZI2(HET2 1Y E0I A 4,539
2 4,085
Al 318
2 136
AMBIHSE2IBAADIR 2| 22,000 22,000 0
2 17,600
Al 4,400
307 BI2HOI 22,000 22,000 0
2 17,600
Al 4,400
02 QIAANBE 22,000 22,000 0
OANEESTZ A 22| 22,000
2 17,600
Al 4,400
SNBSS Al 103,840 0 103,840
2 93,456
Al 10,384
301 LB 103,840 0 103,840
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S OB D
Hal: FoUHS 25 ¥ N
Sl HAS ¥ FHANS NRAY (25l &2
_ _ pSNE e
SA-BH.C(BH) - HRAY - B Off &F 04 Gil it o Rz
301 YBrEAZ 13,000 16,500 A3,500
Al 13,000
01 AtSl2Z =452 13,000 16,500 £3,500
ORASAHE BSURY) 13,000
Al 13,000
AASINE RSFS 10,560 10, 160 400
Al 10,560
301 YerBAZ 10,560 10, 160 400
Al 10,560
NIEEEERSTE 10,560 10, 160 400
ORASAHS DSHZ 10,560
Al 10,560
FHotNs S 32,000 27,650 4,350
Al 32,000
301 YerBAZ 32,000 27,650 4,350
Al 32,000
01 Al BZ X453 32,000 27,650 4,350
OxetHs FSH=y| 32,000
Al 32,000
FHos DS 376,640 363,680 12,960
Al 376,640
301 YBrBAS 376,640 363,680 12,960
Al 376,640
01 AtSlEZ =452 376,640 363,680 12,960
OFoNE DSES 376,640
Al 376,640
AZ=T KA 331,913 136,681 195,232
= 265,531
Al 33, 191
2 33, 191
307 212+0IH 331,913 136,681 195,232
= 265,531
Al 33, 191
2 33, 191
01 2YLR2H| 331,913 136,681 195,232
OAS=X X 331,913
= 265,531
Al 33, 191
2 33, 191
SIPRIEVETE 91,498 0 91,498
= 45,749
Al 22,875
2 22,874
101 124l 91,498 0 91,498
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E: HUNE 25 2 X
SRl HAS U HUNS NRAL (Erol: @2
_ _ MNuE o
SN -EHH . (B) - MPAY - BE2 O &t 04 Sl ko HRE2
= 45,749
Al 22,875
- 22,874
04 JIZHMIZ2XSE =+ 91,498 0 91,498
ONBIZTSBHHIAT228 oIty
91,498,000 91,498
= 45,749
Al 22,875
- 22,874
KIHALSIMEIA & AlARYS 871,122 543,000 308,122
2 609,786
Al 248,908
- 12,428
KNALHES H S A 583,980 290,000 293,980
= 408,786
Al 175,194
307 QI2t0IA 583,980 290,000 293,980
= 408,786
Al 175,194
05 2IIRAE =S 583,980 290,000 293,980
OXNS LS HIRMALY 583,980
= 408,786
Al 175,194
ZANLE HBIR™HAS 204,286 133,000 71,286
= 143,000
A 61,286
307 212t01& 204,286 133,000 71,286
= 143,000
Al 61,286
05 2IRAE S 204,286 133,000 71,286
OZFANMLE 2™ ALY 204,286
2 143,000
Al 61,286
JIZ=INLE HBIR™AS 82,856 120,000 A37,144
= 58,000
A 12,428
- 12,428
307 QI2t0I A 82,856 120,000 A37,144
= 58,000
Al 12,428
- 12,428
05 2IRAE S 82,856 120,000 NA37,144
OJENLE BIRH AL 82,856
2 58,000
Al 12,428
- 12,428
FoI=X MHIAAL 990,931 1,101,446 A110,515




SA: FoMEXJ Dt
M FHUAHYS 25 L XA
S FO=EX MUIAAY CEEREED
_ _ AT
2N -3 - c2(3H) - NEME - HES Ol &F2H ‘Oﬂ/i\_Fo” Hns
= 19,408
Al 848,995
= 122,528
AEIAAAHAS FE 36,450 5,100 31,350
201 2Et29H| 7,450 5,100 2,350
01 AtR22ldl 7,450 5,100 2,350
OAMHIAHHANE 2R EEE HES 2,000
-E82 3& 2,000
OASIE2X HHESEOH 3o &4
70,000& x15H 43| 4,200
OXI AL SKIHE 2H X2t 25,0002 505 1,250
207 I | 29,000 0 29,000
01 49| 29,000 0 29,000
OXGAZEXNHE B S 28 =22 I
AAA R EAH| 29,000
SEAIY 10,750 450 10,300
201 Let9H| 450 450 0
03 #At2YHI 450 450 0
O4.195= 2 & AlH| 450
- AMEBEAN =2 FEE P2
150,000& =14 150
- AMEEBEAN RERAZ2 300,000& %13 *1H 300
301 LetE A= 4,800 0 4,800
12 JIEtE A= 4,800 0 4,800
OE=UHAX XI& 4,800
-E222Y MASE=UHAX 43 K&
40,000& *12&HMI*10H 4,800
401 Al EHILE0HY] 5,500 0 5,500
01 Al&HI 5,500 0 5,500
OBEUH A4 e 5,500,000 = 14! 5,500
OIELIR =3lsAY 289 3,000 3,000 0
201 Et29H| 3,000 3,000 0
03 At 3,000 3,000 0
OO0tEttE =3sAteY 29  1,500,000& 23] 3,000
FOIAME A F R ALY 5,000 5,000 0
203 YRF&| 5,000 5,000 0
03 AMFERQRF=EIH| 5,000 5,000 0
OFDMET|d= RFX 4,000
OF0IMatx 2 ARFX 1,000
A3 S X229 | 676,925 943,656 A 266,731
Al 676,925
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e
HE: FHOUNE 25 U N
CHl: EOI=X AHIAAY (25 &2
SA-BH.C(BH) - HRAY - B Off &F 04 gggi; Rz
307 QI2H0IH 676,925 664,656 12,269
Al 676,925
02 QIAHABE 676,925 664,656 12,269
OAsl=R 22| 676,925
-3z NE=ND 374,805
Al 374,805
~gREEAE =R 302, 120
Al 302, 120
WL XIS AHIE 22| 146,170 142,240 3,930
Al 146,170
307 QI2H0|H 146,170 142,240 3,930
Al 146,170
02 BINANBE 146,170 142,240 3,930
OTIH= NS AHMIE 2| 146,170
-3FESNE=RD 73,085
Al 73,085
—dEESAs=RR 73,085
Al 73,085
JEZCWIANY 2,000 2,000 0
Al 2,000
307 QI2H0|H 2,000 2,000 0
Al 2,000
02 QIAYMBE 2,000 2,000 0
OJZZECHW3 29y X2 2,000
Al 2,000
KR AR A 3| 2 38,816 0 38,816
= 19,408
2 19,408
307 QI2H0IH 38,816 0 38,816
= 19,408
2 19,408
05 QI2SIEr2 38,816 0 38,816
ORI ZAMEl DCIUI0IE ALY
15,236,000 +2 30,472
= 15,236
2 15,236
ORAZA 282 8,344
= 4,172
2 4,172
KRS A 22X & 71,820 0 71,820
Al 23,900
2 47,920
307 Q201 H 71,820 0 71,820
Al 23,900
2 47,920
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Sol: ==X MHIAAY (Etel: &8
_ _ _ Muo
SA B G(E) - NEAY - B 0l & o i HREZ
05 SI2t9Ieta 71,820 0 71,820
OXESAME 29 X8 71,820
-MHEZAME SRS 12,000
Al 5,500
= 6,500
- EAESSEE YN 14,000
Al 10,000
= 4,000
- EANHR SRR 2] 45,820
Al 8,400
2 37,420
220185 AY 209,675 199,861 9,814
Al 202, 175
= 7,500
20482 AL REE HI 7,500 2,500 5,000
201 Lete gyl 2,500 0 2,500
01 At 2l 2,500 0 2,500
ORADAYX ZH 21 500,000 *53] 2,500
301 YptEAZ 5,000 2,500 2,500
NIEEEEPSE 5,000 2,500 2,500
o= 500, 0002 1072 5,000
LS 202,175 197,361 4,814
Al 202,175
307 eI2t 202, 175 197,361 4,814
Al 202, 175
02 I3t 202, 175 197,361 4,814
oL 191,112
Al 191,112
oL 9,063
Al 9,063
OL-=XaH 2,000
Al 2,000
823 2 BB22AM 964,500 624,200 340,300
= 50,500
Al 697,500
= 216,500
ZZ2ZAY 863,000 580,000 283,000
Al 647,000
2 216,000
ZZ22 A 863,000 580,000 283,000
Al 647,000
2 216,000
201 et 2,000 2,000 0
Al 1,500
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S 0BT D
B HHS AL (UMD
el 1= (el @R
SA-E . S(E) - MEAY - BES 01l &4 24 e HIRE
Jl=&Hl 64,382 58,558 5,824
Jl=&Hl 64,382 58,558 5,824
201 LEH2 | 12,092 12,158 N66
01 AtE22(Hl 12,092 12,158 A66
O=AEX 1,993
-M 18,0003 »92% A 1,656
-B4 28,0003 x 108 A 280
-A3 19,000 38t A 57
Ol 3,403
— S A 55,000& *43] 220
== P 175,000& «152] 2,625
~zelEeE)l Y37
19,6002 x5 x 1 [ «33] 294
—FAXDI 88,000& »1CH+33l 264
ORMEE Jl==2Hl 10,000 x 18 »12& 2,160
OAlZtel 22X 24|
7,000& x341x18F x 12 4,536
202 O 51,840 45,600 6,240
01 =W 51,840 45,600 6,240
OZ LI 240,000 128 «18H 51,840
405 XtaHE S| 450 800 350
01 HARESFSH 450 800 A 350
Od&En 450,000 = 1CH 450




